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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 384 6.9 2.2 10 68.9 100
2 384 4.7 1.5 6 77.6 100
3 376 1.8 0.6 2 87.9 97.9
4 382 4.8 1.6 6 79.8 99.5
5 375 3.2 2.6 8 40.4 97.7
6 365 5.3 2.8 8 65.8 95
7 370 2.1 1.9 5 411 96.3
8 366 2.7 2 7 38.4 95.3
9 374 3.2 1.9 6 52.7 97.4
10 300 0.9 1.1 3 29.3 78.1
11 375 1.5 1.5 5 30.5 97.7
12 331 0.6 0.9 2 29.5 86.2
13 319 0.9 1.3 3 29.7 83.1
14 327 1.3 1.8 6 21.8 85.2
15 348 0.9 1.3 3 30.7 90.6
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5. A shape is made from two identical rectangles each measuring 10cm by 2cm and two identical

rectangles each measuring 8cm by 2cm.
They connect to enclose a shaded region, as shown in the diagram below.

1O

&

' 2(/m Diagram not drawn to scale

{ (a) How many lines of symmetry are there in the shape? 1

2al

(b) What is the order of rotational symmetry of the shape? [1]

i P

(c) Calculate the outer perimeter of the shape. [2]

______ LA+ B 4242 = DD OO

(d) Calculate the area of the shaded region. You must show the units of your answer.  [4]
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UNIT 2 FOUNDATION TIER

Methods in Mathematics June 2015 Mark Comments
Unit 2 Foundation Tier

5.(a) 0 B1
(b)2 B1
(c)10+2+8+2+10+2+8+2 M1
44(cm) Al

(d) 8 and 6 seen S1 May be seen on the diagram
8x6 M1
48 Al

cm? U1 Independent of other marks
8

© WIJEC CBAC Ltd.







5. A shape is made from two identical rectangles each measuring 10 cm by 2cm and two identical

rectangles each measuring 8cm by 2cm.
They connect to enclose a shaded region, &s shown in the diagram below.

1O

2cm

ZLm Diagram not drawn to scale

( (a) How many lines of symmetry are there in the shape?

© WJEC CBAC Ltd. (4364-01)
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(2]
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Sticky Note

5a) 2 a common error.
5c) 22cm a common error-only finding half the perimeter
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5. A shape is made from two identical rectangles each measuring 10cm by 2cm and two identical o

rectangles each measuring 8cm by 2cm.
They connect to enclose a shaded region, as shown in the diagram below.

Diagram not drawn to scale

(@ How many lines of symmetry are there in the shape? [1]
(b) What is the order of rotational symmetry of the shape? [1]
(c) Calculate the outer perimeter of the shape. 2]

(d) Calculate the area of the shaded region. You must show the units of your answer.  [4]
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9

Large pot of
Small pot of '
daffodils daf rs
£1.20

Marjorie spent £20 on daffodils and received 50p change.

She bought 10 small pots of daffodils.

The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?

You must show all your working. [8]

10..SMAIL.pots o gagodils=£] A0 x 10 .
= E£13..00 .

s

C ool IS were £3 MQfe L xpangin
than e small. POy of QOH alilzs.
10073 = .5 (Wge. potL of dafocy &)

© WJEC CBAC Ltd. (4364-01 ) Turn over.
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6. You will be assessed on the quality of your written communication in this question.

Large pot of
Small pot of .
daffodils daodls
£1.20 I

Marjorie spent £20 on daffodils and received 50p change.

She bought 10 small pots of daffodils.

The large pots of daffodils were 25% more expensive than the small pots of daffodils.
How many large pots of daffodils did she buy?

You must show all your working. [8]
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6.

9

You will be assessed on the quality of your written communication in this question.

fi-?oxo-zs

- 0.3
WA A g
£1.20 ' !
Bk, D £ 50
oN .

Marjorie spent £20 on daffodils and received 50p change.
She bought 10 small pots of daffodils.
The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?
You must show all your working. [8]
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Methods in Mathematics June 2015

Unit 2 Foundation Tier Mark Comments
6. (Spent = £20 - 50p) = (£)19.50 Bl Answers may be seen in any order
(Cost of 10 small pots =£1.20 x 10) =(£)12 Bl
(Total Cost of large pots = £19.50-£12) =(£)7.50 Bl FT ‘their £19.50° (but not £20) and ‘their £12°
(but not £1.20)
0.25x (£)1.20 OR 1.25 x (£)1.20 OR (£) 0.30 or B1
30(p)
(Cost of Large Pot = £1.20 + £0.30) = (£) 1.50 Bl
(Number of large pots = £7.50/£1.50) =5 Bl CAO
FT ‘their £7.50° and ‘their £1.50°
Look for:
Correct use of £ or p QwcC
Labelling 2
Correctuse of =, -, +
QWC2: Candidates will be expected to
e present relevant work clearly, with words
explaining process or steps
AND
o make few if any mistakes in spelling,
punctuation and grammar QWC?2 Presents relevant material in a
coherent and logical manner, using
QWC1: Candidates will be expected to acceptable mathematical form, and with few
e present work clearly which is mostly if any errors in spelling, punctuation and
relevant, with words explaining process or grammar.
steps
OR P QWC1 Presents material in a coherent and
e make few if any mistakes in spelling, logical manner but with some errors in use of
punctuation and grammar and include mathematical form, spelling, punctuation or
units in their final answer grammar
OR
evident weaknesses in organisation of
material but using acceptable mathematical
form, with few if any errors in spelling,
punctuation and grammar.
QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical
8 form, spelling, punctuation or grammar.

© WIJEC CBAC Ltd.
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Large pot of

Small pot of
daffodils

£1.20

Marjorie spent £20 on daffodils and received 50p change.
She bought 10 small pots of daffodils.
The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?
You must show all your working. [8]

10..SMAIL_poES. Ok _gagaclilS = £1 A0 x 407 |4

e douy Lxpensine
rhan e smalla P of QAH @lils.

£1:002.3 = .57\ potrof dafecl )€

© WJEC CBAC Ltd. (4364-01 ) Turn over.



Sticky Note

Here is an example of a candidate not achieving full marks for the solution but getting full marks for the QWC.  Structure is very clear for their 1st QWC mark and the written communication is clear and to the point.  Finding 25% of £12 instead of £1.20 was an error seen often.











9
6. You will be assessed on the quality of your written communication in this question.
Large pot of
Small pot of -
dafiodils daffodils
£1.20

Marjorie spent £20 on daffodils and received 50p change.

She bought 10 small pots of daffodils.

The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?

You must show all your working. [8]
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Sticky Note

Here is an example of a candidate achieving full marks for the solution and QWC.  Structure is very clear for their 1st QWC mark and the written communication is clear and to the point.  We forgive the slight error at the end.











6.

You will be assessed on the quality of your written communication in this question.

Y
\

f]-QQXO.ZS

-0-3

- ) Large pot of
Small pot of _
daffodils //,'\ daffodils

add 30p L7
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Marjorie spent £20 on daffodils and received 50p change.

She bought 10 small pots of daffodils.

The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?

You must show all your working. [8]
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Sticky Note

Here is an example of a candidate achieving full marks for the solution and QWC.  Structure is very clear for their 1st QWC mark and the written communication is clear and to the point.










6.

You will be assessed on the quality of your written communication in this question.

Small pot of
daffodils

£1.20

Marjorie spent £20 on daffodils and received 50p change.
She bought 10 small pots of daffodils.

Large pot of
daffodils

h

The large pots of daffodils were 25% more expensive than the small pots of daffodils.

How many large pots of daffodils did she buy?
You must show all your working.

© WJEC CBAC Ltd. (4364-01)
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7. (a) Enlarge the following shape by a scale factor of 3. [2]
[l Al f
/) /
/
/ ’ 4

(b) The volume of a large cube is 216 cm3.
It is made up of smaller cubes measuring 2cm by 2cm by 2cm.

How many of the smaller cubes are used to make the large cube? [3]
................................................................................. QA CALIE . o YD
................................................ D N S = OO

\ ‘r:i,—— —
© WJEC CBAC Ltd. (4364-01)
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Methods in Mathematics June 2015
Unit 2 Foundation Tier

Mark

Comments

7.(a) Enlargement of scale factor 3

(b)(2*=)  8(cm?)
216/8
27

B2

M1
M1
Al

B1 for any two lines correct or 3 points
correct

B1 for correct enlargement using different
scale factor or B1 for a ‘nearly correct’
enlargement using scale factor 3

FT 216/‘their 2°

Alternative method
N216=) 6 MI
(6+2=) 3 M1
(33=) 27 Al

© WIJEC CBAC Ltd.
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10

7. (a) Enlarge the following shape by a scale factor of 3.

[2]

(b) The volume of a large cube is 216 cm3.
It is made up of smaller cubes measuring 2cm by 2cm by 2cm.

How many of the smaller cubes are used to make the large cube?

................................................................................ Sin.AAd . CALDE. . .. lfm
) J e {
................................................ '(rl'u/:“/
.......................................................... ©Y (N
© WJEC CBAC Ltd. (4364-01)
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Sticky Note

216/6=36 was a common error seen often.  Some candidates also wrote 2x2x2=6.
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Examiner
|
(@) Enlarge the following shape by a scale factor of 3. [2] o

(b) The volume of a large cube is 216 cm3.
It is made up of smaller cubes measuring 2cm by 2cm by 2cm.

How many of the smaller cubes are used to make the large cube? [3]

© WJEC CBAC Ltd. (4364-01)






(b)

1. (a)

14
Reflect the rectangle shown below in the line x = 1.
y
A
10
8
5 —_—
A
2 :
|
-8 | -6 4] -2 [0 2 4 6 8 0
X
-2
-4
-6
-8
Translate the rectangle shown below by (5) [1]
Y
A
10
8
6
O 1
b |
!
2 = —d
8 | -6 | -4 | —2 | 0 > 4 6 =X
-3
| 1
-4
-6
-8
© WJEC CBAC Ltd.

(4364-01)

[2]
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Sticky Note

b)  This common error was seen very often.  Candidates plotting (8, 5) and using this coordinate as the top right hand corner of their rectangle.










1.

14

(a) Reflect the rectangle shown below in the line x = 1.
y

A
10

=]

o

-4

-6

(b) Translate the rectangle shown below by (g)

=8

¥y

10

A

o

5

pv]

——m

-4

-6

© WJEC CBAC Ltd.
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6.

You will be assessed on the quality of your written communication in this question.

Large pot of
Small pot of _
daffodils daffodlls
£1.20

Marjorie spent £20 on daffodils and received 50p change.

She bought 10 small pots of daffodils.

The large pots of daffodils were 25% more expensive than the small pots of daffodils.
How many large pots of daffodils did she buy?

You must show all your working. [8]
Estism =To ¥, <
Yol @ S WS T 5N 5 ~~ S

Marone. orougint.. S lauge s o
\ ’r" A

© WJEC CBAC Ltd, (4364-01) Turn over.
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6. You will be assessed on the quality of your written communication in this question. o
Large pot of
Small pot of ;
daffodils daffedils
£1.20
Marjorie spent £20 on daffodils and received 50p change.
She bought 10 small pots of daffodils.
The large pots of daffodils were 25% more expensive than the small pots of daffodils.
How many large pots of daffodils did she buy? P
You must show all your working. / 811 p
\Q C - il 2
..... C\\DCW\Q/\,LpK\€<@\Z>\zw\/\/@ ;
Y ay; = : . R e <N : "/ - f I
...... C\CCJ/\\\Q)IQ\B_L)V\\\Lx&k‘\x“f’:\)
L{ RN A.... L\L\ ..... X0~

© WJEC CBAC Ltd. (4364-01) Turn over.




Sticky Note

Here is a question where the QWC was assessed.   This candidate had achieved full marks for the maths.  The work is structured very well and therefore gained 1 QWC mark.  Unfortunately after the initial written communication it stopped in the middle and therefore 0 QWC mark was awarded there.










|

(b) Find the value of # . Write your answer correct to 1 decimal place. [2]
/
e = /
....... D /et oo et e e
*».// /Xi
(c) Which of the fractions 3 5 o 9 s nearest to 1,
8’16 ~ 64 4
You must show all your working. [3]
q/éq-: ...... Qll«\cﬁis,_//, ............................. 3/3 ...... V9. .Neaiesk. . X0 /‘-f ...............................................
R <Y - N S
o 0375 el oo e e et e s st s e e e
\, d
‘4 = .0.25 4

............................................................................................................................................................................................................

© WJEC CBAC Ltd. (4364-01) Turn over.
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Sticky Note

8a) Many candidates received 1 mark for the value of the sum.  However most could not write the answer to 2 sig fig.
8b) Many candidates received 1 mark for 5.5(555).  However, most candidates could not then write the answer correct to 1 decimal place.
8c) Here is an answer seen very often.  Candidates could correctly convert all fractions into decimals. They then chose 3/8 as being nearest to 1/4.  Perhaps when comparing 0.375 and 0.3125 they compared 375 and 3125 and therefore assumed that 5/16 was larger than 3/8. 










_—

= . B W
1565 k¢

11

(@) Find the value of 5323 + [9671-3. Write your answer correct to 2 significant figures. [2]

O - ab ’) >

(b) Find the value of % . Write your answer correct to 1 decimal place. 2]

: ' 3 5.9, 1,
(c) Which of the fractions 8' 16 or =2 is nearest to 1

You must show all your working. [3]

© WJEC CBAC Ltd, (4364-01) Turn over.
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(@) Solve a-9=17.

(b) Solve %=16.

12

© WJEC CBAC Ltd.

(4364-01)
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Sticky Note

(b) x=2 a common error.










(@ Solve a-9=17.

12

[

© WJEC CBAC Ltd.
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11(a) Correct reflection inx = 1

(b) Correct translation
(¢) Correct rotation

B2

Bl
B2

B1 for a reflection in y=1 or either axis, OR
for sight of the linex = 1

B1 for a near miss (=2mm from grid lines), or
90° clockwise rotation, or with a correct
position, with 1 vertex correct but with a ship
in drawing the right angle triangle, but not
with the orientation

B0 if rotation shown in all guadrants







{a) Reflect the rectangle shown below in the line x = 1. [2]

Y
A
10

o]

-8

{b) Translate the rectangle shown below by (g] [1]
Y

)
10

o0

N







8. (a) 150000
(b) 5.6

(c) For all 4 correct in a form which allows
comparison

5/16

B2

B2

B2

Bl

B1 for 150667.(110767909)

B1 for 5.5(555555..)

Award B1for 2 or 3 correct in a form which

allows comparison e.g.

3/8 5/16 9/64 Y,
24/64 | 20/64 9/64 16/64
0.37(5) | 0.31(25) | 0.14(0625) | 0.25











(a) Find the value of 53-23 + [9671-3. Write your answer correct to 2 significant figures. [2]

(b) Find the value of % . Write your answer correct to 1 decimal place. [2]
i ions 3 2 or 9 1,
(¢)  Which of the fractions 8 16 or 64 is nearest to K

You must show all your working. [3]










9.
(a) (a=) 26

(b) (x=) 128

{c) 3y=27
=9

d) 2x=32
x> 16

Bl

Bl

Bl
Bl

Ml
Al

Accept embedded answers

Allow 3y=41 - 14
FT one error

@

No marks for use of “=", unless finally
replaced to give >x>16 then award M1 Al.
SC1 forx>19







9. (a) Solve a-9=17. 1]

(b) Solve % =16. (1]
(c) Solve 3y + 14 = 41, 2]











